50, will be treated as malpractice.

g blank pages.

2. Any revealing of identification, appeal to evaluator and /or equations written eg, 4248

Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remainin

USN 1SMES1
Eighth Semester B.E. Degree Examina
Operations Research
Time: 3 hrs.
Note: Answer any FIVE full questions, ch '
1 State various phases of operatio

per unit of each product are“iglw !
Machine cm A

(06 Marks)

Define Optlmum solution, Feasible zone, redunda "
? having 2 decision

Fea51ble zone ABCDEA 1dcntmed by a set-o

X<2yis added 1dent1f)\; the new feamble zdn éhow on graph) State redundant constraints.
Find maximum and mlmmum value of Z i Z = 3x + Sy for new: fea31ble zone. (10 Marks)

(06 Marks)
(10 Marks)
Solve the folldwing LPP -
Maximize Z =X, +2x, +3%;
Subject to X, —X, +X, =4~
% 5, +2x <8
(16 Marks)

1 of3



1SMES81
Module-3
Write a brief note on ‘Degeneracy in Transportation (06 Marks)
As the total demand is more than the total supply, ‘not possxble to meet the demand of
every destination of the transportation problem gf

Destination
A B C

respectively. -
i) Formulate the problem t

if) Obtain basic f6351b1 5
(10 Marks)

es of Transportatlon Problem and Assignment
(06 Marks)

(10 Marks)

Define Network, Event, Dummy aet, (06 Marks)
twork shown in Figi@Q 7(b), the three timé estimates for the activities are given
frows. Determm@%théc%hcal path. Wha  the probability that the project will be

Fig.Q7(b) (10 Marks)

20f3
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OR 5

State and explain in brief Kendall’s notation for repre
A self service store employs one cashier at its counte
every 5 minutes while the cashier can serve 10
distribution for arrival and exponential distribu
i) Average number of customers in the syste
ii) Average number of customers in the g1
iii) Average time a customer spends initfie,system

1iv) Average time a customer waits beforébeing served.

ing queing models. (06 Marks)
ine customers arrive on an average
se;%gtmers in 5 minutes. Assuming Poisson
for service, find

(10 Marks)

% ¢ Module-5
9 a. Define Saddle point, Zero Sumgame, Game Value. , ' (06 Marks)

b.  Reduce the game to eithermi’x 2 or 2 x n by domina\%;;%%ﬁand then solve graphically.
7 .

o

(10 Marks)

State assumptions made while applying Johnson

ile to ‘n jobs on.’ "
lired to process-t
ich should be done

:achines’. (06 Marks)
llowing jobs on the
irst. Also calculate the

machines. For each miae
total elapsed time.

Sequence

Job 1 e (hr)
: Sequence

Job% Time (hr)

(10 Marks)-

30f3



